Efficiency vs dr

0.02
<
9.018
8.016
c
(0]
'©.014
=
®.012
0.01
0.008
0.006
0.004
0.002

1.9

[ fake+duplicates vs AR |

1

0.8

0.6

0.4

fake+duplicates rate vs AR

Ratio

[y
TTTT] T T

o
©
a

107 107 o1
TP min AR

=
S
w

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001

Ratio

1072 107
AR(TP, jet)

Efficiency vs pu

5 0.01

o :

S :
A S S S S S
e S S S
S T
e S S S
S T

| | L] | |

g 10 12 14 16 18 20
Pileup

= Ll

1072 101 o
track min AR

[ fake+duplicates vs AR(track, jet) |
- 0.5
2

~0.45
0.4

trac

=

So.3s

o F
o 0.3:—
€0.25E
%) -
Q F
< 0.2F
2 F
S0.15F
7 E
T 0.1
= E
£0.05F
k) of
T
e L
1.5_— -------------

-5 05

...................................

o
N
a1

.....................................

©
N

fake+duplicates rate vs P

.....................................

Ratio

[ T[T TTTT

oR

Pileup



	Contents
	Page 1


